BARANAGAR MUNICIPALITY

87, Desh Bandh Road (E), Kol-35 (NIT-No PW/52 dt 19.9.12) NIT.NO 96/MPLAD/12-13 dt. 8.3.13

Sealed Tender are invited by Chairman, Baranagar Municipality for execution of the various development work in this Municipal area. Details are available in www.baranagarmunicipality.org Last date of downloading of tender form 21/03/13, last date of receiving of sealed tender 26/03/13 up to 3.00 pm. Date of opening and time 26/03/13 at 3.30 pm. Earnest Money @ of 2.0 % of Tender amount.

Date: 8.3.13.

Sd/- Aparna Moulik

Chairman

Baranagar Municipality

Baranagar Municipality. 87,Desh Bandhu Road. Kolkata-700035.

MEMO NO:

DATE-

NOTICE INVITING TENDER (NIT no- 96 /MPLAD/12-13 dt. 8.3.20/3)

Sealed tenders are hereby invited by the chairman, Baranagar Municipality from bonafied, experienced, resourceful and responsible contractors/agencies for the Construction, Repairing and Renovation work for the below mentioned work in the tender box kept at the Chairman's office chamber up to date mentioned below.

SL No.	<u>Name Of Work</u>	Estimated amount put to tender(Rs)	Earnest Money (Rs)	Cost of Tender Form (Rs)	Time for comple tion in days
	Vapour light for different wards of	15,12,050.00	31,000.00	200.00	30
1	Baranagar Municipality.			222.00	60
2.	Development of Poly clinic at 44/52 B.T. Road under Baranagar Municipality	16,44,164.00	33,000.00	200.00	80

(Amount paid towards cost of tender form is Non refundable)

	<u></u>		
Tender form can be downloaded from	Time & Place of dropping	Date of Opening of Tender	Earnest money & cost of tender form
Our official website Upto 21.03.2013 at 5.00 P.M.	up to26.03.13 within 3.00 p.m. at this office	At 3.30 p.m. at this office on	a) Rs. As specified b) Rs. 200.00 in separate DD
		26.03.13	

TERMS & CONDITION:-

- 1. Application for tender papers should be accompanied by attested copies of current IT return for Assessment Year 2012-2013, Vat and Professional Tax registration certificate & up-to-date payment of Professional Tax challan, PAN Card, credential in form of payment and completion certificate including copy of work order of a single work (similar type) amounting of minimum 50 percent (50%) of the tender amount .No applications should be received after the scheduled date and time.
- 2. The tender documents may be down loaded from the Municipal website and for that documents a payment of 200/- (Rupees two Hundred Only) in the form of Bank draft in favour of chairman, Baranagar Municipality, should be submitted, separately along separate requisite earnest money.
- 3. Earnest money noted against the work @ 2.00% of the value of work mentioned in column-4 in the form of Demand Draft of Any Nationalized Bank in favour of Chairman, Baranagar Municipality, Shall have to be deposited during submission of tender. The earnest money of tendered will be converted in to security money after acceptance. The security money will be released as per norms. No interest should be given on the earnest money & security money.
- 4. Rate should be quoted in percentage basis, both in figure and in words.
- 5. In connection with these works, no Arbitration will be allowed.
- 6. Incomplete tender will rejected summarily. The successful tender will have to execute a formal agreement on a non judicial stamp worth 10/- within 7 (seven) days from the date of issue of work order.
- 7. Before submission of tender, contractors must visit/inspect the work site at his own cost to judge the local situation/condition, approachable road etc. No plea/complain about the site, approach road etc. Shall be entertained afterwards. It shall be presumed that the agency offered the rate after taking into account the entire position of the work site, approach road etc.

- 8. The offered rate should be inclusive of all sorts of incidental charges, levy, tax, cess, vat, carriage, loading, unloading, toll etc etc. No enhancement, additional claim arguments for escalation of price shall be allowed after submission the tender. No mobilization / secured advance will be allowed.
- 9. No mobilization/secured advance will be allowed.
- 10. No single tender shall include more than one work, but contractors who wish to tender for two or more works shall submit a separate tender for each.
- 11. The contractor shall have to carry out work with his own equipment and machinery.
- 12. After opening a tenders if required the authority may invite rates as authority desire.
- 13. The successful tender(s) shall have to start the work "within seven days" from the date of issuing of the work order and the work should be completed in with the stipulated time failing which the earnest money may be forfeited and this work order will be treated as cancelled.
- 14. Acceptance of lowest tender is not obligatory & the undersigned reserves the right to accept any tender or to reject any or all tenders without assigning any reason and to split up tendered work's to more than one contractor in the interest of speedy execution of the scheme.
- 15. The undersigned reserves the right to alter the terms and condition of this notice at any time in the interest of public service only.
- 16. Any above rate of the schedule rate of work will not be ordinarily entertained.
- 17. The item of work for which Tender is submitted should be clearly mentioned along with commensurate earnest deposit. The earnest money deposited will be forfeited by chairman, Baranagar Municipality in case:-
 - (i) The tender withdraws tender after opening or acceptance.
 - (ii) The selected tender fails to accept order, refuses either wholly or partly the offer that would be made by the undersigned.

- (iii) The selected Tenderer fails to work or reply within the date stipulated in the work order.
- 18.Schedule of work/supply will be prepared and measured as per approved P.W.D (W.B) schedule of Rates for Effective from 1st August 2010.7th corrigendum Addenda & Errata of schedule of Rates for Road & Bridge works,2008-2009 of P.W (Road) Directorate April-2012,W.E.F.30.11.12.
- 19. The undersigned reserves the right to forfeit the Earnest money and security deposited in the event of any short of breach of contract.
- 20. Contractor should put their firms / organization endorsement (signature of authorized signatory with official stamp) on each page of the tender document as token of approval.
- 21. Contractor is note that non-compliance of any of the instruction is liable to render their tender non-bona fide.
- 22.All kinds of materials and labour related to the job will have to be arranged by the contractor and to be got approved by Engineer in charge or inspector before their use. The contractor at his own cost shall remove the rejected materials / workmanship from site within 24 hours.
- 23. The contractor at his own cost shall store all the materials which will be used for the work.
- 24. The quantities mentioned in the schedule of quantities approximately indicate the total extent of work, but may vary to any extent and some items may even be omitted. No claim whatsoever shall be entertained on this account.
- 25.If the Engineer in charge / authorized officer of employer finds that the works be delayed by reason beyond the control of the contractor, the Engineer in Charges will make a fair and reasonable extension of time for completion of the contract with the written approval of the undersigned.
- 26. The work within the premises the contractor shall obtain certificate about the satisfactory Completion of work from the Engineer in Charge and submit the same along with the bills.
- 27. The work should be done with the consultation of P.W.D of Baranagar Municipality.

- 28. Contractors have taken requisite "All Risk Insurance Policies" to cover workman under Workman Compensation Act, loss / damage caused by natural calamities / accidental collapse of partially completed work, materials and plant at site and for third party claims for injury / damages.
- 29. Before taking initiation of any extra item / excess quantity during the work, the same should be got approved by Engineer in Charge or Inspector.
- 30. Due to work at Hospital if any the Contractors / agencies will be responsible for work at emergency basis and urgently finishing the work.
- 31. After issuance of tender, Contractor should read carefully before submission the tender documents. No addition, alteration, omission, inclusion, deletion, amendment shall be allowed by any means.
- 32. A deduction of 1% cess for labour welfare as per Govt. norms in addition to normal deduction for IT and other purposes shall be imposed on every raise of bill /claim by the agency.
- 33. For electrical work upto date valid Electrical contractor license and Electrical Supervisor license from appropriate authority must be produce with tender.

373/12 (13.

e _{la} esta Consede esta Tunicipe My <u>Chairman</u> Baranagar Municipality



87 Deshbandhu Road (E), Kolkata-700035 Phone no. 033 25771071 / 8595 / 0012, Fax no. 033 25771071

Estimate for Development of Poly Clinic at 44/52, B.T.Road, under Baranagar Municipality

				Rate	Amount
SI.No		Quantity	Unit	Ratu	Milotille
1	Uprooting and removing from the surface of the All complete P-84 I-10 (b)	5	oach	64.5	322.50
2	Cleaning and removing of garbage mixed with rubbish and				
	other filty materials from the site All complete p-297 I-49				
	2350 sqft X10"=1950.50cft 55.24 + 33.20= 88.44	88.44	cum	57.88	5118.91
	Earth work in in excavation of foundation trenchesor drains in				
3	all sorts of soil (including mixed soil but excluding laterrite or sanstone)				
	including removing spreading or stacking the spoils within a lead of 75 meteras directed. The items includes ne page no.1ltem no. 2A, /2012 132'x8'=1056 sftx 6"=528.00			.	4074.45
	cft=15.84 cum	15.84	cum	124.46	1971.45
4	Filling in foundation or plinth by silver sand in layers not exceeding 150 MM as directed and consolidating the same by through saturation with water ramming compite including the cost of supply of sand.(Payment to be made on measurement				
	of finished quan page no.2item no. 4A, /2012	15.84	cum	616.71	9768.6 9
5	Supplying and laying chequered tiles of any shade & of	152.52	sqm.	905.8	138152.62
	approved quality Etc. 205' x 8' = 1640 sft = 152.52 sqm	102.01	54.17.		
6	Supply fittinf fixing first quality ceramic tiles in wallAll complete page no 64 item no.30,Ba(i)/2012.a) on Wall b) on				
	floor.3 x 205 ft.x 3'-6"= 2152.50sft. = 200.18 sqm say 201 sqm	201.00	sqm	859.6	172779.60
7	15 Mm thick cement pluster with sand & cement morther (1:6)with 1.5 Mm thick neat cement punning page no. 198 Item no, 2.(ii)c)PWD Bldg 12 590.00sqm / $3 = 196.66$ say 197.00 sqm.top floor +[$32+40=72$ 'x 28 '(ht.)= 2016 @60%				
	plaster=1209 + 3x3'x60'=540 sft. = 1209.sft = 1749 sft.=162.66 sqm. (outside)] = 359.66sqm	359.66	sqm	160.7	57797.36
8	Rendering of wall putty on the plastered surface with approved quality wall putty P-213 I-5(b)	197.00	sqm	93.5	18419.50
9	Priming one coat on tiumber and plastered surface with				
	synthetic oil bound primer of approved quality All complete. P-13 i-7(a)	197.00	sqm	41.5	8175.50
10	Priming one coat on steel surface with synthetic oil bound	26.78	sqm	30.4	814. 11
	primer of approved quality All complete, P-13 I-7(b)	20.70	54		
11	Supply Laying true to line and level vitrified tiles of approved band 600 x 600 x 10 mm in floor cutting etcall complete. P57 I16 I (b) light colour	407.00	: s qm	859.6	349857.20
	3x 14600 sft=4380.0 sft=407.06 sqm say 407.00				
1	2 Supplying profiles of required section made of alluminium	:			
	alloy anodized mat finished for fabrication of doors, sliding,				
	casement windows partition etc. 10 to 12 mlcron thickness				
	anodizing film All complete p-254,1-1(g) i) Top & bottom and side member 2x2 (16+60+20= 96')# 384' +				
	3x 96' = 288'= 672" = 224.00 M side rail	608.00	m	377.70	223641.60
	2x3x32x6'=1152'=384m ii) Mullion 3X 32X6'= 576' ≈ 192m iii) Glazing clip ≈ 224.00+384m=192 m =800m	192.00 800.00	m m	399.00 49.50	7660 8.00 39600.00

					Page - 2
SI.Nc	Description	Quantity	Unit	Rate	Amount
13	Supplying best indian laminated safty glass 5mm thick. Includingcluding all complete fitted and fixing with theak glazing bit p-219 item - 6, 2 X 132' X 6'= 1584.sqm. = 147.21 Sqm. 1 x 132' x 7'6"=990.00 sft.=92.00 sqm.	179.56	sqm	630.20	113158.71
14	and ceiling All complete. Luxary quality p-215,19(11) 5740.00sft - 20% of 5470 = 1148 sft + 3 x 1460.00 sft= 5528.00sft = 514.10 say 514.00 sqm -239.41= 274.59 sqm say 275.00 sqm	275.00	sq.m	76.90	21147.50
15	Applying exterior grade acrylic primer of approved quality on				
	plastered or concrete surface all complete. P-208,i-15 (b)				
	28' x 205'=5740 sft= 533.82 say 534.0 sqm 239.41= 294.59	295.00	sq.m	47.67	14062.65
	say 295.00 sqm.				
16	Protective and decrorative acrylic exterior emulsion paint alli complete. P-210,I-19(b)	295.00	sq.m	89.2	26314.00
17	125 mm thick brikwork with 1st class bricks in cement morter 1:4 page no. 37 item no, 29 2012 3x 8'-0" x6-6"= 156.00 sft.=	14.40	sqm	872	12556.80
18	ordinary Cement concrete (1:2:4) with graded stone chips(20MM size) excluding shuttering and reinforcement.page no 14 item no.5/ 2012 14.40 sqm x .10 = 1.44	1.44	cum	5984.5	8617.68
19	Brick work with 1 st class bricks in cement morter(6:1) page no.35 item no. 22(a) (b) 2012 2 x 40' x 10" x 8'-0" = 531.20 cft= 15.94 cum	15.94	cum	6629.4	105672.64
20	Supplying fitting and fixing collapsible gate two coat alluminium paint over a coat of red lead primer All complete page no.96 item no. 16: 2012 8x8'x12'=768.00sft=71.42	35.71	sqm.	4219.8	150689.06
21	Supplying fitting, fixing rolling steel rolling shutter				
	including providing a hood and two coat alluminium paint				
	over a coat of red lead primer All complete, page no.97 ite	17.86	sq.m	3028.70	54092.58
	no. 17 2012 3 x 12'x 8' = 288.00 sft= 26.78 sqm.	17.00			
22	Supplying fitting and fixing M.S. ornamental grill gate as pe approved design made of strong frame workand m.s. sheet 1.5 mm thick All complete, P-95, Itc13—and p-94, Itel 11(ii) 4x-7"-0"x 8-0"=224 sft= 20.83 @sqm.16kg/sqm. Grill				
	weight and above. a) for grill @ Rs.8996.10/qtl. and	1.67	qutl.	8996.10 1324.60	15023.49 13802.33
	b) for m.s. sheet @ Rs. 1324.60 / sqm.	10.42	sqm		
	-,		•	· Rs.:	1644164.47

Rupees Sixteen lakks forty-four thopusand one hundred sixty four only

Note: Extra cost beyond the sanctioned amount, shall brone by the Municipality

Sub-Asstt. Engineer Baranagar Municipality Assistant Engineer
Baranagar Municipality

Chairman Baranagar Municipality

BARANAGAR MUNICIPALITY

87 Desh Bandhu Road (E), Kolkata-700035

Name of the work : <u>Vapour light for different wards of Baranagar Municipality</u> Ref: 3532/XVII/ Dev (D) dt. 8.10.12 (BEUP WORK)

ESTIMATE

SI.No	Description of work	Rate per Unit	Quantity	Amount
1	Supplying of St. lighting luminaries for use SON 250wt complete with all accessories including SON 250wt. Lamp Philips Cat No.SRP/202/250wt Schedule No D- 8/ 30 Pages- 41	7633/- Each	154 Nos	1175482.00
2	Supplying and fixing Lamp for Metal halide fitting. c) 250wt Schedule No. Additional items 44 Page- 120	1,387/- Each	154 Nos	213598.00
3	S/F bend type arm bracket 2.7M long 40M dia G.I. pipe (I.T.C. – Grade-B) with M.S. pole (up to 115 mm dia) having a projection of 1.35 M at an angle of 105 degree by means of clamps (450 mm x 40 x6 mm) and necessary bolts, nuts, clamps etc. as required. The work is to be done as per direction of Engineer-In-Charge. Schedule No K-10/61 Page-75	823/- Each	154 Nos	126742.00
4	S/F M.S. loop box (16 SWG) water-proof type at the top of 80 mm dia M.S. pipe of size 280mm x 220mm x 124mm depth having front door with special locking arrangement earthing terminal with lug and S/F T. W. Board of size 200mm x 250 mm x 12.5 mm (8" x 10"x 2.1/2") thick inside the wall on M.S. Box by means of M. S. screws necess clamps as reqd. and S/F 1 No. 15 Amp 250 Volt fuse unit complete and 1 No. 15 Amp N. 1. on porcelain insulator one compression type brass cable gland for up to 4 core 15 sq mm P.V.C.cable Schedule No K-11 / 66 Pages- 76	286/- Each	154 Nos	44044.00
5	Supplying Al.conductor PVC insulated and sheathed unarmored cable (1.1KV grade,Gloster/CCI/incab/ICC/Vinicab).	58/-	805.00	46693.00

	a) 4sq.mm x 2 core	RM	Mirs	
6	Supplying & Wiring with 3 x 3/2.5 sq mm P.V.C. Al. wire from overhead wire to lamp terminals. Schedule No K-8/46 Page- 73	10.50/- RM	462 Mtrs	4851.00
				1611410.00
7	Less for lamp HPSV due to Exchange SON-E Lamp Schedule No B-13 / 35 Page- 23	690/- Each	144 Nos	- 99,360.00
				1512050.00

Assistant Engineer Baranagar Municipality

rane for Municipality

Chairman Baranagar Municipality